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1st Month, 4 Week, 2nd Day Syllabus: Unit # 1 Root, Stem and Leaves

Q.No.1 Encircle the correct answer from the following choices. (0.5x6=3)
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i.  Which part of plant anchor it in soil? ?‘Lt’/f u’:g‘jfic'—L"VU:’/ l(;)g
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(a)|Leave Q (b)|Stem ¢|(c)[Root Z|(d)|Seed 6‘

ii. The transports water and minerals in plants.

- t’/‘_}f}d/ﬂf"u!éguf U

b,

@|Flower  J%|(b)|Stem £ |(c)[Root 7 |(@)[Seed &

iii. The important function of leaves is: :‘argr"' 16U

(a)|To supports plant bl 1(12.){ (b)[To absorbs water L/_mdg

(¢)|To makes food bl 5 (d)|To transports food L‘/U’f}d/ S

iv. Which part of plant supports it? ?‘atz)uw.wwl Kg);;

(a)|Flower J}”ﬁ (b)|Stem ¢|(c)[Root Z|(d)|Seed 5]

v. The colour of leaves is: e t’nuéguﬁf.

(a)[White 4 [)|Yellow Iz |(c)[Red U /|(d)|Green Ve

vi. Leave are of different: Y, 27— e

(a)|Colours u,g (b)|Sizes J7\-|(c)[Shapes  JE#I|(d)|Both b & cusvelb
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Q.No.2. Write short answers.

() How is fruit formed? e lid S

(i) What are flowers? ur L.{U P4

Q.No.3. Write long answer. (3)-u‘.‘."i -1 J’fj

(i) Write a note on followings: -u.‘.”g &)/?J: SION)
(a) Stem € (b) Leaves &
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